[SER2TEERIGRY =T - LT 4 ARERK] T&

[v=7 - Ve zx@maE)

BHfE B SR 274204 H 08 H
B S  « fEfibfy - SEFCe

JIEAT K 4 g ouT IN GR HDCP | NET %
LN 5 [ R EER 40 38 78

2 |/ ettty - 7 40 39 79

3 |5FH FnFg [RLRES 41 38 79

4 W ER o< b 38 41 79

5 |8A BEH] [RLRES 41 39 80

6 |IlhD BER [RLRES 41 40 81

T [ER R Bl —27 42 40 82

8 |HH KL INT AT VR A 42 40 82

[v=7 - xv hEiR#E]

[[=thva K 4 i ouT IN GR HDCP | NET %
1A PSR (XS 40 43 83| 10.0| 73.0

2 |®) &= INT AT VR A 41 43 84| 9.5 74.5

3 Pl Afh— (GRERES 42 42 84| 9.4| 74.6

4 |MHE FER [RLRES 47 43 90| 14.4| 75.6

5 |aif EHF Petfr - SEF 42 42 84| 7.7| 76.3

6 |tk H N AT URA 42 44 86 8.9 177.1

7T eA Rk etttk 42 44 86 8.4 77.6

8 | FEsL A PO [ 43 43 86| 8.0/ 78.0

[Ty Fv=7 . ar@Ens]

JERE K 4 i OUT IN GR | HDCP | NET %
1 e B9 ettt - 7 38 37 75

2 |RIWN A4r [tk 42 37 79

3 [ o o< b 38 43 81

4 |IREEE T YAt £ 40 42 82

5 [ Eh4r ettt - 7 43 40 83

6 |y Fnse ety - 7 40 43 83

7oA 2<% 41 42 83

[y Fy=7 - xv biBBHE]

/=t K 4 i ouT IN GR HDCP | NET %
1| BH ER 2<% 44 41 85| 9.5/ 175.5

2 |k A= ety - 7 41 43 84 7.7| 76.3

3 |k BE FlRf~— 27 41 45 86 8.1| 177.9

4 I B NI AT R A 43 45 88 9.9] 78.1

5 [k % 2<% 45 43 88| 9.9] 78.1

6 |FHED (EAT ettty - P 48 44 92| 13.1/ 78.9

(77 kyv=7 -« 7 2@mifg]

JEAZ K 4 B ouT IN GR HDCP | NET %
1 AR B 2<% 41 38 79

2 |MhHE 75 et - 7 37 45 82

3 | % (GRIRENES] S 40 43 83

4 |FE =% ety - 7 44 40 84

5 [RIL B Petff - 7 43 41 84

6 | IEEL e R (] 41 44 85




(/50 Fo=7 - 2y hEilaE]

JIEAT K 4 )& ouT IN GR HDCP | NET %
IO RIS =5 [RLRES 45 43 88| 9.4/ 178.6

2 |EE =B [RLRES 43 43 86 7.4 78.6

3 |#kHE R (R ESES] S 47 45 92| 12.6| 79.4

4 Al R ettty - 7 46 43 89 9.4| 179.6

S AL A - (R X I O 48 48 96| 16.2| 79.8

(L7 4 AB - 7' v Ri@iR#E]

[[=thva K 4 i ouT IN GR HDCP | NET kS
1 xR e |tk 49 43 92

KNENLREFE> RINBLLOHE
TaADE v~ F T« AaT h— R

2 b OHES  Fllin EAL




